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S5_Fig. Detailed example of a folding process at one point along the triple helix (residue 7 of
chain A=1, B=2, C=3). Each plot visualizes the situation of one strand of the helix. The black
curve shows the RMSD of all three strands. The colored curves indicate the pairwise RMSD of
2 selected chains. (magenta: 1&2, cyan: 1&3, yellow: 2&3). On the top of each plot the presence
of the corresponding hydrogen bond is indicated by dots in the same colors. In the first half the
2nd and 3rd strand align to a metastable conformation, but the first strand does not join them.
Also the corresponding hydrogen bond is not formed. After 125ns both strands separate again.
In the last third strand 1 and 3 align to each other and the hydrogen bond is formed. Around
200ns the 3rd strand follows and the final and stable conformation is formed.



